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Instructibns for the candidates :

1. WREE F9Gya 3797 ¥ST ° 81 3T 3/
Candidates are required to give their answers in their own words as far as

practicable.

o TR o IR W R T S g Fifee v &1

Figures in the right hand margin indicate full marks.

3. 39 gvIYT @1 A gdE Ug & Riw 15 R @ sfafie WA e mr &

15 minutes of extra time have been allotted Jfor the candidates to read the questions
carefully.

4. I8 YT 1 @vel 7 ¢ — @ve-3 Ud @US-a |/
This question paper is divided into two sections — Section-A and Section-B.
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5. @1 T owrqhie woT & ford @ el S0 wel &1 I AT ST €1 T
& oIl geat & I 3 W wew 50 T @7 & qedied FEGE] FRT IEAT S
i 5T 3 g 1 of P 1 ) sz 7 e T OMR I
@ 7 w8t g @ A / w1t qr 97 @ g FE e 6 mwR & e /
aeer waTed / wiE / AT S T oMR FEY-glTET # AT ST A & =
gelaT wRvmT T g

In Section-A, there are 60 objective type questions, out of which any 50 questions
are to be answered. First 50 answers will be evaluated by the computer in 'case_
more than 50 questions are answered. Each question carries 1 m;:lrk. Darken the
circle with blue /black ball pen against the correct option on OMR Answer sheet
provided to you. Dé not use :'!Jhiténer/ liquid / blade / ﬁai! etc. on dm-sheet,

otherwise the result will be invalid.

6. @WUE- § 27 &g I wvT & Frd @ fesl 15 wwt &t gav dar sifvard &1
gede 7vT & forg 231%{%&%#/ 7% s, -avs F g i s W
7} & foref @ el Tt @ Suy 37 &1 9ol W & Forg s s Pyt 1
In Section-B, there are 27 short .ansi(;er' typé questions, out of which any
15 questions. art-e to be answered. Each question carries 2 marks. Apart from this,

there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries 5 marks.

7 Fed) 9BR & seagitie JUHNT 1 HANT qulaar afrd &

Use of any electronic appliances is strictly prohibited.
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@ Ug - A /| SECTION - A

g aﬁ&“ﬁ W¥T / Objective Type Questions
W Wear 1% 60 % & 9y & wry 9w Fwew Ry wy & frd @ v wet et

50 9% & Iy a9+ gwT g T wet fAwew # oMR e U fafEAd w1

50 questions. You have to mark your selected option on the OMR-Sheet.

1. U% GAEE B ABC 1 UF T 12 cm @, @ 39} S8 il

(A) 6v2 cm (B) 6J§ cm
@ 3J6 cm (D) 6J6 cm
One of the sides of an equilateral triangle ABCis 12 cm, then its height is_
(A) 642 cm (B) 643 cm
(C) 3J6 cm (D) 6V6 cm
2. ofs GHET 3x—y =5 T 6x—2y=k % H A TE, A
(A) k=0 By k=0
(C) k=#10 (D) k=-10
If the cquations 3x—y =5 and 6x-2y = k have no solution, then
A) k=0 (B) k=# O
(C) k=10 (D) =-10
5, Hﬁﬁ'loomﬁ“wémﬁo°$wmwssﬁ g$ T U A Bl
. r %
(A) 100m (B) 100y2 m
oy - 200 (D) 200m
AV ] i

The length of the string of a kite flying at a height of 100 m from the ground and

angle of elevation 60° is

(A) 100 m (B) 10042 m
o) ?%m (D) 200m
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4. ARX 3 cm A T UF 99 W @R TS &) e Y@ IR 60° % IO T FH &,

A T TWIRET A &
(A)  2V3 cm (B) -3—-2@- cm
(C©) 3V3 cm (D) 6cm

If two tangents inclined at an angle of 60° are drawn to a circle of radius 3 cm

then the length of each tangent is

(A) 2J3 cm (B) %@ cm
(9~ 3V3 em | D) 6cm

5. 52 AR W UH TE H S ke e, IqH § AIgeedT TH Tel el Sl |
. 3HH ST 7 T IIERIE B I SR feae @ 2 '

s (B o=
1 i .3
© 35 D) =

——
S—

A card is’ drawn at random from of a well—shufﬂed deck of 52 ceirds. What is the

probability of getting a king of black colour ?

1 1
(A) 13 (B) 56

1 3
€ = (D) 39

6. frffam @ A o ST 2 |

(A) 15 23
o \9/ 12 (D) - 75

Which of the following is a prime number ?

(A) 15 (B) 23

(C) 12 (D) 75
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(1+tan® + secO)(1 + cotd — cosecB)="7?

a) -1 \B)

< 1 (D)

I ToF a H aRRY 2n | QTR 4n T S AT, T IWHT ST SO

(A) 3™ By T

(© @I (DL~ TR

Il the circumference of a circle is increased from 2n to 4=, its area will be
(A)  half (B) two times

(C) three times, (D) four times

fr & Q o fog & FamE AT E 2
(A  (1,1) B (0,0)

© (-1,1) (D) ¥ ¥ I8 T
Which of the following is the co-ordinate of tho.:-. origin ?
(A (1,1) B (0,0)
© (-1,1) (D)  None of these

x=— 5 S ARG 4l T 1@ grit ?

(A)  x-3TT & FHR (Bl— y- 3 % FHiR
©) T g ¥ = g% (D) ¥ ¥ w7
What type of straight line will the graph of x=- 5 be ?

(A) parallel to x-axis (B) parallel to y-axis
(C) passing through the origin (D) none of these
sin(90°-0) =

(A) sin0 (B) -.sin®

(C) cosO (D) -—cos6
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12.  Frafafed § @ Hi9 oids gen e ?

(A)  2-v3 B V5
243

o = @ V6
Which of the following is a rational number ?
(a)  2-4J3 B 5
C 243 -
c) 73 (D) 6

13. 3% sech =i—g ﬁ, @ cotd SR &

[ ® 3

_2
_er 153 o 2

If sccO = 13 , then cot0 is equal to

12
5 5
(A) ﬁ (B) E
12 13
© 2 o B
14. fogalt A@3,4) &R B(-3, 8) &I e areht YErave & qutg & s §
A& (0,12) (B) (6,0)
(C) (6,-4) (D) (0,6)

The co-ordinates of the mid-point of Fhe line-segment joining the points A(3,4)
and B(-3, 8) is

(@) (0,12) (B) (6,0)

C) (6,-4) (D) (0,6)
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15. Todl 99 W o fag @ et ot Yant @i=t s w9t & ?

(A 1 B) 2

€ 3 D) 4

How many tangents can be drawn from an external point on a circle ?
(A) 1 B) 2

€ .3 D 4

16. 64n cm? SFEE o6t TN H AE €
(A) ~ 15cm BT 16 cm
(C) 20 cm (D) 17 cm

The diameter of a circle with area 64n cm? is

(A) 15 cm (B}~ 16 cm
(C) 20 cm (D) 17 cm

17. BT ADEF @1 APQR ¥ @1 ¥ 7 4D = £Q W £R = <E i FrAfeiEa § @

-9 Wel & 2

(A ZF=/«P By 4F=20Q

(C) ZD=/P (D) ZE =-4P

In ADEF a_;la APOR, it is given that £D = £Q and ZR = ZE ; then which of the
following is true ?

(A) ZF=Z«P (B) ZLF=«£Q

(C) 4D=«P (D) ZE=ZP

18.  THIEOT gH 2x+3y =5 WU 4x+6y=15 H ¢

(A) Higea gl (B) HA<I &l
(o T D) T § HE

The pair of equations 2x + 3y =5 and 4x +6y =15 have

(A) unique solution (B) infinitely many solutions
‘gg/fm solution (D)  none of these
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19. AR 65T 117 T HoWo 65 m— 117F @A F Y, A m F A E

a1 B) 2
) !
‘\9 3 (D) 4 ‘ _
I HCF of 65 and 117 is in the form of 65 m~ 117 then the value of m is
A 1 B) 2
© 3 D) 4
20. 2,10 3R 20 % FHoTo K HoTo T I &
(A)  1:10 B) 10:1
€ 4:3 (D) 11:1
The ratio of the LCM and HCF of 2, 10 and 20 is
A) 1:10 B 10:1
(C) 4:3 (D) 11:1
21. IR ThE g i o 1, e b A S A w), @ T F57 o §
(A)  Ibh B) J2+b%+h2
(C) 2Ibh (D)  2(Ib+bh+1h)
If the length of a cuboid is I, width b and height A, then the volume of the
cuboid is
A) bk B) yI2+b2+H2
(C) 2ibh (D)  2(b+bh+1h)
22.° tanl0°tanl5°tan75°tan80° = ? ‘
1
A 3 Bjr ks
A) 43 (B) e
‘\(9/ -1 D) 1
23. Frafeafea & @ f9-ar o adfso € 2
(A)  2x3 -3x=(x+1)? B x*-2/x+3=0
(C) 3x2+2=(3-x2+4 D) x2 '-_1?=4
X
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Which of the following is a quadratic equation ?

(A} 2x®-3x=(x+1)? B x*-2/x+3=0

(C) 3x2+2=(3—x)2+4 (D) x2__1?=4
X%

4. TF IO R UH UF H YR WA ¥ AR I Fengdr o @AW @, @ S

AT BT AT BhT
(A)  1:2 B) 2:3
€ 3:2 o 3:1

The bases of a cylinder and a cone are same. If their heights are also same, then

the ratio of their volumes will be

(A) 1352 (B) 2:3
(¢ 3:2 (D) 3:1
25, x-3Ter T feg S B fagel A(-1,0) ¥R B(5,0) IFTH R WE, ©
(A)  (0,2) ABr (2,0)
() (3,0) D) (0,3)

The point on x-axis which is equidistant from points A(-1, 0) and B(5, 0) is

(A) (0,2) B) (2,0)
€ (3,0) (D) (0,3)
sin63° _

0 cos?27°
A) V3 B) 1
c 2 (D) 3

o7. Tgud Sg9% x2+%x-—2 & ITF &

A -3,4 (B)

1 ol
H w|s

© -3 (D)

N w
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The zcroes of the polynomial X2+ -é—x -2 are

3 4
(A)  -3,4 (B) -3

(C) — %, (D) none of these

N

28. EHiGR AN 10, 7, 4, ... T 30 O U SR ¢

(A) -55 (B) —66
Q=77 (D) 81
The 30th term ‘of the A.P. 10, 7, 4, ... is equal to
(A) - 55 (B) -66
c =77 (D) 81

29, zﬁ%{ tan9=% 3’1’, @ cosecO T AH %

17 8
‘\(}J/ ry (B) 17
15 “ 17
© 1 o) 1
If tan0 = % , then the value of cosecO is
17 8
15 17
19 D 2l
© 13 D)
30. 1 100 T G Wighd GEASA 1 AT &
(A) 4050 ..,(B) 5050
(C) 6050 (D) 7050
The sum of all natural numbers from 1 to 100 is
(A) 4050 (B) 5050
(C) 6050 (D) 7050
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31, 12m 59 @Y B SHN W) U @ B A 6 443 m ¥ gY H AT B8
(A) 60° (B) 45°
Je) o 30° (D) 90°
The length of the shadow of a 12 m high pillar falling on land is. 43 m. The

angle of clevation of the sun is

(A) 60° (B) 45°
(C) 30° (D) 90°
32.  AABC U §HHWT Bt & o 2C= 90° & & cos(A + B) &1 AF &
(A) O (B) 1
1 43
AABC is a right angled triangle in which £C = 90°. The value of cos(A + B).is
(A) O B) 1
1 J3
€ 5 (D) 5

33, T (2,3) W (-2,3)H A R

(A) 3 \(ﬁ}/ 4
(C) S (D) 6
Distance between the points (2,3 ) and (-2, 3 ) is
(A) 3 (B) 4
(C) S (D) 6

34. TS IO aU1 W & AR HY HOAE 3 : 4 % A H & U IRl FEEAI 2:3%H
ST o €1 Soi % T T S §
A) 3:4 Bl 9:8
(C) 8:9 D)y 4:3
The radii of the bases of a cylinder and a cone are in the ratio 3 : 4. If they have
their heights in the ratio 2 : 3, the ratio of their volumes is
(A) 3:4 By 9:8
(C) 8:9 (D) 4:3
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35. 4% 3,4,5, 1700 x FITAF 68, A x FATE

A 1 B 2
() 3 (D) 4
If the mean of 3, 4, 5, 17 and xis 6, then the value of x is
(A1 B) 2
€ 3 (D) 4

36. fr=fciiad 3 @ 99 coseco & W & ?

cosf
w =252 (B)

1 sinf
\'('QK sinf (D) cosO

Which of the following is equal to cosecf ?

cos0
(&) sin0® (B) sech
1 sin0
(©) sin6 (D) ~ cos®
37. AKK 2sin@ =1, (3cot?0+3) T HH &
A) 12 B) 15
(C) ) (D) 8

If 2sin@ = 1, then the value of (3cot? 0+ 3) will be
A) 12 (B) 15
c 9 D) 8

38.  3TEYH Ul Ff WikEar aidt &
1
(A) o) (B) 1

© o (D)

W=
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39.

40.

4],

SEEMANCHAL ACADEMY

The probability of an impossible event is

1

(A) 5 B) 1

C 1

) o0 (D) 5
Frefefea § x2-v2x-12 % s I §

(A  -343,43 B - e

(B) 3/2, =
=8 . 3 ;

& mee (D) ¥ § ¥ T
Which of the following are zeroes of x2 — 2x — 12 ?

(A) -342,42 -3J2,-L

(B) 3J2, =

(C) :/—é-,ﬁ (D)  none of these
T 6l Y I SAar-ae ¥

(A) 99 (B)  =YeRUT

Moy = (D) ¥ ¥ Hig T

The largest chord of a circle is

(A) arc (B) chord

(C) diameter (D) none of these
fr=fefaa & | -4 9@, T genr wt wihed T8t & wwmdr & 2

(A) % (B -05
() 07 D)  15%
Which of the following numbers cannot be the probability of an event ?
w 2 B -05
(C) 07 (D) 15%
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42, HIE B YT HEA S DY) sty W H Ho Fo AT BN ?

A1 UBr 2

S D) T A P Tl

The HCF of the smallest composite number and smallest prime number is
"1 B) 2

(C) 9

(D) none of these

43. W“ﬁw“uwﬁwlcm%.ﬁ@am4mmwwqﬁmWW%'
IR &l TR ©

(A) 100

—— cm 25
= (B) L cm
(C) 100m cm (D) 10000 cm

A wire of 4 mm diameter is made by pulling a.metallic cube whose side is 1 cm.
The length of the wire is

(A) '%Q— cm (B) % cm
(C) 100w cm (D) 10000 cm
44, 1+tan®@ =
(A)  sec®® (B)  cosec?0
(C) tan?0 (D) cot?0
45. fg 3 WHEY BT A @G qene H 3 : 4 1 U ¥, A I9% GREMT
3T §
(A 3:4 B 4:3
oy 9:16 (D) 16:9

If the corresponding sides of two similar triangles are in the ratio of 3 :l4, then
‘the ratio of their perimeters is

(A) 3:4 (B) .4:3

(C.) 9:16 (D) 16:9
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46.  -10,-6,-2,2, ..., 34 9 U3} F &

(A) 15 (B) 12
(C) 13 (D) 14
The number of terms in -10, - 6, 2, 2, ... , 34 is

(A) 15 B) 12
C) 13 (D) 14

47. ﬁﬁfs,—s)wrﬁam%

/\@/\6 B) -5

€ -6 D) 5

The x-coordinate of the point (6, -5 is

A 6 B) -5
(€ -6 (D) 5

48. oo Wgw x(2x-5)-3 ¥ R HATE

w2 @ -5

© -3 o 2

The sum of the zeros of the quadratic polynomial x(2x-5)-3 is
w 2 ® -3

© -3 o 32

49. 1+2+3+...+n3ﬂﬁﬂ%

n(n+1)(n+2)

(A) ";’1 @ 2

©) n(n2+ 1) (D) n_(%—ﬂ
1+2+3+..+nisequal to

N £_2+_1 @ o +-12)(n+2)

[ 110 ] H |5010-H a8) Page 15 of 24




S0.

al.

52.

53.

SEEMANCHAL ACADEMY

fFr=fefEa & € #19 sgug & 2
3 1
(A)  x*-5x+4J/x+3 (B) x2-x+x2+]1
© - Jx+ _J1= (D) J2x2 -3J/3x+ J6
X
Which of the folloWing is a plynomial ?
3 1

(A) x2"5x+4q/;+3 (B) xE_x+x2 +1
(C) &+% D) V2x? -3/3x+/6
3,4,7,2,7,6,7,9 % Sgish &

A 2 B)
a5 7 D)

Mode of 3,4, 7,2,7,6,7,9 is

A 2 (B)

© 7 (D)

13 3T 19 & =" FHORX AT

(A) 13 JBY 16

(C) 19 (D) 12

Airthmetic Mean between 13 and 19 is

(A) 13 (B) 16

(C) 19 (D) 12

Iz feamd THeOT x2 - px+4 =0 % T S & Ol p="?

(A) +3 B +4

(C) +5 (D) +2

If the roots of a quadratic equation xZ-px+4=0 are equal then p=?

(A) +3 B) +4
(C) %5 (D) +2
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54. AR a IR b et Tt E A o SR b T Ao T

A)  a B) b
(C a
) ab (D) 2

If aand b are prime numbers then LCM of a and bis

(A) a (B) b

€ ab (D)

S IN

55. T (xy)RM@gmhmad
\()) /x2__y2 (B) x2+y2

(C) .JC2 - y2 (D) x2y2

Distance of the point ( x, y ) from the origin is

(A) x? - y? (B) x? +y?
C) x*-y* D) x*y?
'56. R T x, y T e FHEOT ax+ by +c =0 F e fhan ger 99T - 2
[\ B) =2
(© R (D) T ¥ wiE T

How many maximum solutions of the linear equation ax+by+c=0 are
possible in two variables x, y ?
(A) 1 (B) 2

(C) Infinitely many (D) none of these
57. HHR SO 1, 4, 7, 10, ... T HIH-971 95 88 § 2

(A) 26 (B) 27
() 30 (D) 35
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58.

59.

60.

SEEMANCHAL ACADEMY

Which term of the A.P. 1, 4, 7, 10, ... is 88 ?

(A} 26 (B 27

© 30 (D) 35

g (-3,-5)Fr e S Raa & 2

(A)  TEH R B) feciia o
ey e (D) =d IS

In which quadrant does the point (- 3, - 5 ) lie ?

(A) 1st quadrant (B) . 2nd quadrant

-(C) 3rd quacirant (D) 4fh quadrant

2cos? 60° & HHA %

Ay % (B)

(C) 1 \(B)/

Value of 2cos260° is

Nf—= e

1 1
(VI B 7

: 1
(C) 1 @ 35
fr=r o @ Forg foand SgU % YFET T ANTES 3 AN UEE - 10 ¥ ?
A) x%2-3x+10 (B) x%+3x-10
(G x?-3x-10 (D) TR B

In the following which is the quadratic polynomial whose sum of zeros is 3 and
product is — 10 3
(A)  x2-3x+10 B) x*+3x-10

(C) x2_-3x-10 (D) "none of these
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¥ ug - o /| SECTION - B
g S w9 / Short Answer Type Questions
T wer 1#27"’3’"?’?{3?????!37##%'—# 15 gvF @ Iv &1 ad® 9y & forg

2 3% fAwifea ¢ | 15 x2 =30
Question Nos. 1 to 27 are Short Answer Type. Answer any 15 questions. Each question
15x2=30

carries 2 marks.
T=fefan sea =1 sgee @@ w1 2

Find the mode of the following distribution :

- ierCrer 0-20 20-40 | 40-60 | 60-80 | 80-100 | 100-120
Class-interval
TR 30 36 52 61 38 33
' Frequency : :
/2./ fefeRaa seT =1 A 7 = 2
Find the mean of the following distribution :
- HAATTeT ~ 0-10 10-20 20-30 30-40 40-50
Class-interval
SIS 7 8 16 9 10
Frequency

/'y g TSt T AEA loooﬁmmwﬁmmzsaom%?ﬁmwaﬁl 2

If the sum of two numbers is 1000 and the difference of their squares is

256000, then find the numbers,
//Féaaﬁ%(mﬁ)@éﬁﬁﬁaﬁ@ﬁl 5

Prove .that.(3+ J5) is an irrational number.
)/ﬁ'ﬂﬁﬂ?ﬁmﬂﬂmf—%—homgﬁﬁﬁlﬁl 2

Using quadratic formula find the solution of the equation x2 -4x-1=0.
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s el & AT 34 ¥ | TR W
2

th term is 11 and sum of

T FHIER ST 1 e Ug 11 §1 g dres au
3R T it |

Determine the common difference of an A.P. whose 4
the Sth and 7th terms is 34.

AABCﬁﬂGTGﬁABﬁWACWﬂﬁﬁDﬁT'EmT:WW%%

DE||BC, dAD = (4x-3)cm, AE=(8x~-7) cm,
CE=(5x—3)cm,T‘ﬁx.'ﬂ'TTT{Hf=l$lﬁl

In AABC, D and E are two points on the si
DE||BC.1f AD=(4x-3)cm, AE= (8x-7) cm; BD
CE = ( 5x- 3 ) cm, then find the value of x.

BD.—:(Sx—'l)Cmm
2

des ABand AC respectively such that
=(3x-1)cm and

fog &¢ fip tand+tanB - o AtanB. 2
cotA+cotB
tanA+tanB _
Prove that ot At cotH =tanAtanB.
T% AABC & ¥iW f&g A(-3,0), B(5,-2) @ C(-8,5) ¥ 39 B & s
STl ShiTeTU | 2

\_/’he vertices of a AABC are A(-3,0), B(5,-2) and C(-8,5). Find the

centroid of the triangle.

0 xmyﬁwmmﬁﬁaﬁﬂﬁﬁﬁ(;,y),m1)HEIT’(3,5~-)W§‘@T%I 2

e

11,

Establish a relation between x and y if the pbint ( %; y ) is equidistant from
(7,1)and (3, 5).

< et @ HoWo 23 & U IR ToHo 1449 ¥1 AN TH WEAT 161 ¥, Tad
T A H 2
The HCF of two numbers is 23 and their LCM is 1449. If one number is 161,

then find the other number.

12. /3R o, p o FE SR ax? + bx+c % IAH & Al o? + p2 FIAF TG HL 2

If o, are the zeroes of the quadratic polynomial ax? + bx +c, then find the

value of a? +p2.
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13.  UH g9 aABC # o BC 9 P fog W W¥ oar & @un st AB R AC H
WM W FE O W R W W ww ¥ fag A R A0 =1 (aaBC @
TRHATT) | 2
A circle is touching the side BC of AABC at P and touching AB and AC
produced at Q and R respectively. Prove that AQ = -%(Perimetcr of AABC).

14, T g0 % 9quie 1 856 T ¢ I% THHT IRET 25 cm ¥ 2
F_‘incl' the area of a quadrant of a circle if its perimeter is 25 cm.
yﬂmaﬁ@wﬁaﬁrm%ﬁﬁﬁwmﬁ@ﬁaﬁaﬁwﬁwmﬁt 2

Two dice are thrown together. Find the probability of getting even numbers on
both dice.

16. UH AABC ¥ AD, BCWR &« & | fag =< i (4B2 + cD?)=(AC? + BD?). 2
In a AABC, AD is perpendicular to BC. Prove that (A32 + CD2] =(AC? + BDQ).

(7sin® - 3cos0)
17. 9§ 7tan0=4 o, @l (7s1n9+3cose)immwaﬁ:l 2

(78in6 - 3cos9)

If 7tan0 =4, then find the value of (7sin6 + 3c0s0)"

15. x-318T R 37 fog =1 7 < Wt fagat 4 (2, -5) 991 B (-2, 9) ¥ TEGRE ¥ 2

Find a point on x-axis which is equidistant from the points _'A (2, -5) and
B (-2, 9).

/Fﬁﬁfﬂﬂﬁ?fﬁwaﬁmmhmﬁwﬁ%ﬁaﬁaﬁwﬁmmaﬁn 2

Three coins are tossed together. Find the probability of getting at least two
heads.

Wﬂ@qﬁxz—Qx—Sa?l’ﬁﬂﬁmaﬁﬁQl 2

Find thc zeroeshof the quadratic polynomial x2-2x-8
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21.

23.
23.

24,

25.

26.

SEEMANCHAL ACADEMY

fag ¢ 7 sin? 5° + sin? 85° + 5in2 10° + sin” 80° = 2. 2

Provc that sin® 5° + sin? 85° + sin? 10° + sin® 80° = 2.
FHHTT BT 2+ 5y =1 3R 25+ 3y = 3 F1 I A Fafer & gl L 2

Solve the system of equations 2x+5y=1 and 2x+3y=3 by cross-

multiplication method.

o-16ﬁ§%mﬁaaﬁl 2
Convert 0-16 in the form ofg.

U TEgH UF Y HAR 24 cm AN MR F T 7 om €, A I A Bt
O L | 2
Calculate the volume of a right circular cone whose height is 24 cm and radius

of the base is 7 cm.

gfdere & faue TeIReT &7 JanT F 272 F1 1032 = HoHo ehTet | 2
Using Euclid's division algorithm, find the HCF of 272 and 1032.
waﬁﬁmaﬁgﬂﬁmﬁﬁwmﬁcm%l 2
Find the surface area of a hemisphere whose diameter is 14 cm.

fre=1 &1 7 T W 2

tanZ 60° + 4 sin? 45° + 3sec?30°+5 cos* 90°
cosec 30°+ sec60° — cot? 30°

Evaluate the following :

tan2 60° + 4 sin? 45'° + 3sec? 30° + 5cos? 90°
coscc 30°+sec60° - cot? 30°
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g I we / Long Answer Type Questions

YT WET 28 § 35 ¥ I uyw §1 g A Reedt 4 wee ¥ oW 41 uRw W &

T 5 siw frifa 3 4x5 =20
Question Nos. 28 to 35 are Long Answer Type questions. Answer any 4 questions. Each
question carries 5 marks. ' 4x5=20
28.  THIHIOT G x+2y<=3 TUT 4x+3y=2 H UF G 3K el HL 5

\?

30.

31.

Draw the graph of pair of equations x+2y =3 and 4x+3y=2.

TH 60 m L TF & T SR -G THA oo g Q) @ e gy E 1 o
T T F e wew & uw g ¥ @ ¥ Rt & I S e 300 3R
60° ¥ 1 @l Y S sk @t A farg F g T ) 5
Two poles of equal heig}}ts are standing opposite to each other on either side of
the road, which is 60 m wide. From a point between them on the road, the

angles of elevation of the top of the poles are 30° and 60° respectively. Find the
heights of the poles and the distance of the point from the poles.

fog = 5 g =t @ Wi weitarst & wifagel # fremeen terde g &
g ElehY ST 2 | s

Prove that the line segment joining the points of contact of two parallel tangents

of the circle passes thrbugh the centre of the circle.

Q‘m"i’:‘rﬂﬂé’[g@{ﬁ&*—m CIg ﬁmmﬁﬁlﬂﬁm-lokm/hraﬁﬂ?ﬁﬂﬁ
g, af 3§ AT ¥R @ 2 5 FH T SR A 10 ken/hr it Sl i, o <@
frad g § 3 62 a1 o | e BT 9 S T g 7 e 5

A train travels a distance with equal.speed. If the train had run 10 km/hr

faster, it would have taken 2 hours less than the scheduled time and if it had
run 10 km/hr slower, it would have taken 3 hours more than the scheduled

time. Find the distance travelled by the train.
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32, T9g %L fs tand cotd4 __ tA). 5
/ (1—cotA)+(1-tanA] (1+ tan A + cot A)
Prove th.t tan A cot A o tA).
a T-cotA) (1= tanA) {1+ tan A + cot A)

33. A U 9 g P ¥ BRw o 7o F 0 I g9 W @il T8 g ERREE & e
T IV 60° &, A OP H e WA FX | o
If the éngle between two tangénts drawn on a circle with radius a and centre

O from an exterior point Pis 60°, find the length of OP.
34. PRI URTA TR 2 W2 20 lan 3R W § S 4T ¥ Ao 282 F 4 4am &
Hﬁ%l@ﬁf@?ﬁﬁﬁﬁﬁﬁ_wwwﬁwaﬁﬁl 5

Nisha can swim downstream 20 km in 2 hours and upstream 4 km in 2 hours.

Find her speed of swimming in' still water and the speed of the current.
35,/ 3-5 cm 55901 %7 g0 €ifdU | 39 99 W T4 < W@ Eifeq st e weed g |

5

Draw a circle of radius 35 cm. Draw two tangents to the circle which are

perpendicular to each other.
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